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Instructions for the Candidates
1. Write your roll number in the space provided on the top of

this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet

will be given to you.  In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page.  Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page.  Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes.  Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (1), (2), (3)
and (4).  You have to darken the circle as indicated below on
the correct response against each item.

Example :      where (3) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only.  If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall.  You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.

¬⁄UËˇÊÊÁÕ¸ÿÙ¢ ∑§ Á‹∞ ÁŸŒ¸‡Ê
1. ß‚ ¬ÎDU ∑§ ™§¬⁄U ÁŸÿÃ SÕÊŸ ¬⁄U •¬ŸÊ ⁄UÙ‹U Ÿê’⁄U Á‹Áπ∞–
2. ß‚ ¬˝‡Ÿ-¬òÊ ◊¢ ¬øÊ‚ ’„ÈÁfl∑§À¬Ëÿ ¬˝‡Ÿ „Ò¥–
3. ¬⁄UËˇÊÊ ¬˝Ê⁄êU÷ „ÙŸ ¬⁄U, ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê •Ê¬∑§Ù Œ ŒË ¡ÊÿªË–  ¬„‹U ¬UÊ°ø Á◊Ÿ≈U

•Ê¬∑§Ù ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê πÙ‹Ÿ ÃÕÊ ©‚∑§Ë ÁŸêŸÁ‹ÁπÃ ¡Ê°ø ∑§ Á‹∞ ÁŒÿ
¡Êÿ¢ª, Á¡‚∑§Ë ¡Ê°ø •Ê¬∑§Ù •fl‡ÿ ∑§⁄UŸË „Ò —
(i) ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê πÙ‹Ÿ ∑§ Á‹∞ ¬ÈÁSÃ∑§Ê ¬⁄U ‹ªË ∑§Êª¡ ∑§Ë ‚Ë‹ ∑§Ê

»§Ê«∏ ‹¢U–  πÈ‹Ë „Èß¸ ÿÊ Á’ŸÊ S≈UË∑§⁄U-‚Ë‹U ∑§Ë ¬ÈÁSÃ∑§Ê SflË∑§Ê⁄U Ÿ ∑§⁄¢U–
(ii) ∑§fl⁄U ¬ÎDU ¬⁄U ¿U¬ ÁŸŒ¸‡ÊÊŸÈ‚Ê⁄U ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑§ ¬ÎDU ÃÕÊ ¬˝‡ŸÙ¢ ∑§Ë

‚¢ÅÿÊ ∑§Ù •ë¿UË Ã⁄U„ øÒ∑§ ∑§⁄U ‹¢U Á∑§ ÿ ¬Í⁄U „Ò¢U–  ŒÙ·¬ÍáÊ¸ ¬ÈÁSÃ∑§Ê
Á¡Ÿ◊¢ ¬ÎDU/¬˝‡Ÿ ∑§◊ „Ù¢ ÿÊ ŒÈ’Ê⁄UÊ •Ê ªÿ „Ù¢ ÿÊ ‚ËÁ⁄Uÿ‹U ◊¢ Ÿ „Ù¢
•ÕÊ¸Ã˜ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U¬ÍáÊ¸ ¬ÈÁSÃ∑§Ê SflË∑§Ê⁄U Ÿ ∑§⁄¢U ÃÕÊ
©‚Ë ‚◊ÿ ©‚ ‹Uı≈UÊ∑§⁄U ©‚∑§ SÕÊŸ ¬⁄U ŒÍ‚⁄UË ‚„Ë ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ‹
‹¢– U ß‚∑§ Á‹∞ •Ê¬∑§Ù ¬Ê°ø Á◊Ÿ≈U ÁŒÿ ¡Êÿ¢ª–  ©‚∑§ ’ÊŒ Ÿ ÃÙ
•Ê¬∑§Ë ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê flÊ¬‚ ‹Ë ¡ÊÿªË •ı⁄U Ÿ „Ë •Ê¬∑§Ù •ÁÃÁ⁄UQ§
‚◊ÿ ÁŒÿÊ ¡ÊÿªÊ–

(iii) ß‚ ¡Ê°ø ∑§ ’ÊŒ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑§Ê Ÿ¥’⁄U OMR ¬òÊ∑§ ¬⁄U •¢Á∑§Ã ∑§⁄¢U
•Uı⁄U OMR ¬òÊ∑§ ∑§Ê Ÿ¥’⁄U ß‚ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ¬⁄U •¢Á∑§Ã ∑§⁄U Œ¢–

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ Á‹∞ øÊ⁄U ©ûÊ⁄U Áfl∑§À¬ (1), (2), (3) ÃÕÊ (4) ÁŒÿ ªÿ „Ò¢–
•Ê¬∑§Ù ‚„Ë ©ûÊ⁄U ∑§ flÎûÊ ∑§Ù ¬Ÿ ‚ ÷⁄U∑§⁄U ∑§Ê‹Ê ∑§⁄UŸÊ „Ò ¡Ò‚Ê Á∑§ ŸËø
ÁŒπÊÿÊ ªÿÊ „Ò–
©ŒÊ„⁄UáÊ —    ¡’Á∑§ (3) ‚„Ë ©ûÊ⁄U „Ò–

5. ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ∑§fl‹ ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ∑§ •ãŒ⁄U ÁŒÿ ªÿ OMRU ¬òÊ∑§ ¬⁄U „Ë
•¥Á∑§Ã ∑§⁄UŸ „Ò¥–  ÿÁŒ •Ê¬ OMRU ¬òÊ∑§ ¬⁄U ÁŒÿ ªÿ flÎûÊ ∑§ •‹ÊflÊ Á∑§‚Ë
•ãÿ SÕÊŸ ¬⁄U ©ûÊ⁄U ÁøqÊ¥Á∑§Ã ∑§⁄UÃ „Ò¥, ÃÙ ©‚∑§Ê ◊ÍÀUÿÊ¢∑§Ÿ Ÿ„Ë¢ „ÙªÊ–

6. •ãŒ⁄U ÁŒÿ ªÿ ÁŸŒ¸‡ÊÙ¢ ∑§Ù äÿÊŸ¬Ífl¸∑§ ¬…∏¢U–
7. ∑§ìÊÊ ∑§Ê◊ (Rough Work) ß‚ ¬ÈÁSÃ∑§Ê ∑§ •ÁãÃ◊ ¬ÎDU ¬⁄U ∑§⁄¢U–
8. ÿÁŒ •Ê¬ OMR ¬òÊ∑§ ¬⁄U ÁŸÿÃ SÕÊŸ ∑§ •‹ÊflÊ •¬ŸÊ ŸÊ◊, ⁄UÊ‹ Ÿê’⁄U,

»§ÊŸ Ÿê’⁄U ÿÊ ∑§Êß¸ ÷Ë ∞‚Ê Áøq Á¡‚‚ •Ê¬∑§Ë ¬„øÊŸ „Ê ‚∑§, •¥Á∑§Ã ∑§⁄UÃ
„Ò¥ •ÕflÊ •÷Œ˝ ÷Ê·Ê ∑§Ê ¬˝ÿÊª ∑§⁄UÃ „Ò¥, ÿÊ ∑§Êß¸ •ãÿ •ŸÈÁøÃ ‚ÊœŸ ∑§Ê
¬˝ÿÊª ∑§⁄UÃ „Ò¥, ¡Ò‚ Á∑§ •¥Á∑§Ã Á∑§ÿ ªÿ ©ûÊ⁄U ∑§Ê Á◊≈UÊŸÊ ÿÊ ‚»§Œ SÿÊ„Ë ‚
’Œ‹ŸÊ ÃÊ ¬⁄UËˇÊÊ ∑§ Á‹ÿ •ÿÊÇÿ ÉÊÊÁ·Ã Á∑§ÿ ¡Ê ‚∑§Ã „Ò¥–

9. •Ê¬∑§Ù ¬⁄UËˇÊÊ ‚◊Ê# „ÙŸ §¬⁄U ◊Í‹ OMR ¬òÊ∑§ ÁŸ⁄UËˇÊ∑§ ◊„ÙŒÿ ∑§Ù ‹Uı≈UÊŸÊ
•Êfl‡ÿ∑§ „Ò •ı⁄U ¬⁄UËˇÊÊ ‚◊ÊÁ# ∑§ ’ÊŒ ©‚ •¬Ÿ ‚ÊÕ ¬⁄UËˇÊÊ ÷flŸ ‚ ’Ê„⁄U
Ÿ ‹∑§⁄U ¡Êÿ¢–  „Ê‹Ê¥Á∑§ •Ê¬ ¬⁄UËˇÊÊ ‚◊ÊÁ# ¬⁄U ◊Í‹ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ÃÕÊ OMR
¬òÊ∑§ ∑§Ë «ÈUå‹Ë∑§≈U ¬˝ÁÃ •¬Ÿ ‚ÊÕ ‹ ¡Ê ‚∑§Ã „Ò¥–

10. ∑§fl‹ ŸË‹/∑§Ê‹ ’Ê‹U åflÊßZ≈U ¬Ÿ ∑§Ê „Ë ¬˝ÿÊª ∑§⁄¢U–
11. Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ê ‚¢ªáÊ∑§ (∑Ò§‹∑È§‹≈U⁄U) UÿÊ ‹Êª ≈U’‹ •ÊÁŒ ∑§Ê

¬˝ÿÙª flÁ¡¸Ã „Ò–
12. ª‹Ã ©ûÊ⁄UÊ¥ ∑§ Á‹∞ ∑§Êß¸ Ÿ∑§Ê⁄UÊà◊∑§ •¥∑§ Ÿ„Ë¥ „Ò¥–
13. ÿÁŒ •¥ª˝¡Ë ÿÊ Á„¥ŒË Áflfl⁄UáÊ ◊¥ ∑§Êß¸ Áfl‚¥ªÁÃ „Ê, ÃÊ •¥ª˝¡Ë Áflfl⁄UáÊ •¥ÁÃ◊

◊ÊŸÊ ¡Ê∞ªÊ–

N 1 70 20
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POLITICAL SCIENCE

PAPER - II

Note : This paper contains fifty (50) objective type questions of two (2) marks each.  All questions
are compulsory.

1. Who said “Kautilya’s Arthashastra exemplified radical Machiavellianism, compared to it,
Machiavelli’s Prince is harmless” ?

(1) Weber (2) Morgenthau (3) Waltz (4) Kissinger

2. According to Plato, justice is :

(1) Distribution of goods and services

(2) Burdens and Benefits

(3) Punishment and retribution

(4) One man one work, one class one duty

3. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) : Oakeshott says Hobbes is the greatest political thinker produced by the
English speaking people.

Reason (R) : No other thinker can match his philosophical foundations and clarity of
thought.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

4. Hegel’s dialectical method was :

(1) to build a science of politics

(2) to accept the Enlightenment’s philosophical method

(3) to assert that the methods of natural sciences and those of social sciences were identical

(4) to solve the problem of contradiction
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⁄UÊ¡ŸËÁÃ ÁflôÊÊŸ

¬˝‡Ÿ-¬òÊ - II

ÁŸŒ¸‡Ê — ß‚ ¬˝‡Ÿ ¬òÊ ◊¥ ¬øÊ‚ (50) ’„È-Áfl∑§À¬Ëÿ ¬˝‡Ÿ „Ò¥– ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ŒÊ (2) •¥∑§ „Ò¥– ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

1. ÿ„ Á∑§‚∑§Ê ∑§ÕŸ „Ò ““∑§ÊÒÁ≈UÀÿ ∑§Ê •Õ¸‡ÊÊSòÊ ©ª˝ ◊ÒÁ∑§ÿÊflÁ‹flÊŒ ∑§Ê ©ŒÊ„⁄UáÊ „Ò, ß‚∑§Ë ÃÈ‹ŸÊ ◊¥ ◊ÒÁ∑§ÿÊfl‹Ë ∑§Ê
Á¬˝¥‚ •„ÊÁŸ∑§Ê⁄U∑§ „Ò””?

(1) fl’⁄U (2) ◊Ê⁄UªãÕÍ (3) flÊÀ≈˜U¡ (4) Á∑§Á‚¥¡⁄U

2. å‹≈UÊ ∑§ •ŸÈ‚Ê⁄U, ãÿÊÿ „Ò —

(1) flSÃÈ ∞fl¥ ‚flÊ ∑§Ê ÁflÃ⁄UáÊ

(2) ÷Ê⁄U •ÊÒ⁄U ¬˝‚ÈÁflœÊ

(3) Œá«U •ÊÒ⁄U ¬˝ÁÃ‡ÊÊœ

(4) ∞∑§ √ÿÁÄàÊ ∞∑§ ∑§Êÿ¸, ∞∑§ flª¸ ∞∑§ ∑§Ã¸√ÿ

3. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : •Ê∑§‡ÊÊÚ≈U ∑§Ê ∑§„ŸÊ „Ò Á∑§ „ÊÚé‚ •¥ª˝¡Ë ’Ê‹Ÿ flÊ‹ ‹ÊªÊ¥ ◊¥ ¬ÒŒÊ „ÊŸ flÊ‹Ê ‚’‚ ◊„ÊŸ
⁄UÊ¡ŸËÁÃ∑§ Áø¥Ã∑§ „Ò–

Ã∑¸§ (R) : ∑§Êß¸ •ãÿ Áø¥Ã∑§ ©‚∑§ ŒÊ‡Ê¸ÁŸ∑§ •ÊœÊ⁄U ÃÕÊ ÁfløÊ⁄U ∑§Ë S¬c≈UÃÊ ∑§Ë ’⁄UÊ’⁄UË Ÿ„Ë¥ ∑§⁄U ‚∑§ÃÊ–

∑Í§≈U —

(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, ‹Á∑§Ÿ (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–

4. „Ëª‹ ∑§Ë mãmÊà◊∑§ ÁflÁœ ÕË —

(1) ⁄UÊ¡ŸËÁÃ ∑§ ÁflôÊÊŸ ∑§Ê ÁŸ◊Ê¸áÊ ∑§⁄UŸÊ

(2) ôÊÊŸ ∑§Ë ŒÊ‡Ê¸ÁŸ∑§ ÁflÁœ ∑§Ê SflË∑§Ê⁄U ∑§⁄UŸÊ

(3) ß‚ ’ÊÃ ¬⁄U ’‹ ŒŸÊ Á∑§ ¬˝Ê∑Î§ÁÃ∑§ ÁflôÊÊŸ ∑§Ë ÁflÁœÿÊ¥ ÃÕÊ ‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ ∑§Ë ÁflÁœÿÊ¥ ∞∑§ ‚◊ÊŸ „Ò¥–

(4) ¬˝ÁÃflÊŒ ∑§Ë ‚◊SÿÊ ‚È‹¤ÊÊŸÊ
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5. Who distinguished the Young Marx from the Old Marx ?

(1) Althusser (2) Lenin (3) Miliband (4) Luxemburg

6. Gramsci characterised Fascism as :

(1) Hegemonic revolution (2) Passive revolution

(3) Bourgeois revolution (4) Petit Bourgeois revolution

7. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) : Gandhi was critical of the material civilisation and particularly detested
the Industrial Revolution.

Reason (R) : He believed that Industrial Revolution was destroying deeper values.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

8. Roy - Lenin debate centred around :

(1) Dialectical Materialism (2) Marxist Theory of History

(3) The Theory of Surplus Value (4) Colonial Question

9. Deliberative Democracy is :

(1) A theory that champions exclusively Human Rights.

(2) A theory that puts forward environment as the most important agenda.

(3) A theory that concentrates on refining the familiar framework of liberal democracy.

(4) A theory that wants to usher in socialism by democratic means.
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5. Á∑§‚Ÿ ÿÈflÊ ◊ÊÄ‚¸ •ÊÒ⁄U flÎh ◊ÊÄ‚¸ ∑§ ’Ëø •¥Ã⁄U ’ÃÊÿÊ?

(1) •ÀÕÍ‚⁄U (2) ‹ÁŸŸ (3) Á◊Á‹’Ò¥«U (4) ‹ÈÄ$¡◊’ª¸

6. ª˝Ê◊‡ÊË Ÿ $»§Ê‚ËflÊŒ ∑§Ë Áfl‡Ê·ÃÊ ’ÃÊß¸ „Ò —

(1) ¬˝ÊœÊãÿ ∑˝§Ê¥ÁÃ (2) ÁŸÁc∑˝§ÿ ∑˝§Ê¥ÁÃ

(3) ’È¡¸È•Ê ∑˝§Ê¥ÁÃ (4) ‹ÉÊÈ ’È¡È¸•Ê ∑˝§Ê¥ÁÃ

7. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : ªÊ¥œË ÷ÊÒÁÃ∑§ ‚èÿÃÊ ∑§ •Ê‹Êø∑§ Õ •ÊÒ⁄U fl„ Áfl‡Ê· M§¬ ‚ •ÊÒlÊÁª∑§ ∑˝§Ê¥ÁÃ ∑§Ê ¬‚¥Œ Ÿ„Ë¥
∑§⁄UÃ Õ–

Ã∑¸§ (R) : ©Ÿ∑§Ê Áfl‡flÊ‚ ÕÊ Á∑§ •ÊÒlÊÁª∑§ ∑˝§Ê¥ÁÃ ª„⁄U ◊ÍÀÿÊ¥ ∑§Ê Ÿc≈U ∑§⁄U ⁄U„Ë „Ò–

∑Í§≈U —

(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, ¬⁄¥UÃÈ (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–

8. ⁄UÊÚÿ-‹ÁŸŸ ’„‚ Á∑§‚∑§ ßŒ¸-ÁªŒ¸ ∑¥§ÁŒ˝Ã ÕË?

(1) mãmÊà◊∑§ ÷ÊÒÁÃ∑§flÊŒ (2) ßÁÃ„Ê‚ ∑§Ê ◊ÊÄ‚¸flÊŒË Á‚hÊãÃ

(3) •Áœ‡Ê· ◊ÍÀÿ ∑§Ê Á‚hÊãÃ (4) •ÊÒ¬ÁŸflÁ‡Ê∑§ ¬˝‡Ÿ

9. Áfl◊Á‡Ê¸ÿ ‹Ê∑§Ã¥òÊ „Ò —

(1) ∞∑§ Á‚hÊãÃ ¡Ê Áfl‡Ê· M§¬ ‚ ◊ÊŸflÊÁœ∑§Ê⁄UÊ¥ ∑§Ê Á„◊ÊÿÃË „Ò–

(2) ∞∑§ Á‚hÊãÃ ¡Ê ¬ÿÊ¸fl⁄UáÊ ∑§Ê ‚flÊ¸Áœ∑§ ◊„ûfl¬ÍáÊ¸ ∑§Êÿ¸∑˝§◊ ∑§ M§¬ ◊¥ ¬˝SÃÈÃ ∑§⁄UÃÊ „Ò–

(3) ∞∑§ Á‚hÊãÃ ¡Ê ©ŒÊ⁄UflÊŒË ‹Ê∑§Ã¥òÊ ∑§ ‚ŒÎ‡Ê …UÊ¥ø ∑§Ê ¬Á⁄U◊ÊÁ¡¸Ã ∑§⁄UŸ ¬⁄U äÿÊŸ ∑¥§ÁŒ˝Ã ∑§⁄UÃÊ „Ò–

(4) ∞∑§ Á‚hÊãÃ ¡Ê ‹Ê∑§ÃÊ¥ÁòÊ∑§ ‚ÊœŸÊ¥ ∑§Ë ‚„ÊÿÃÊ ‚ ‚◊Ê¡flÊŒ ‹ÊŸÊ øÊ„ÃÊ „Ò–
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10. Why was behaviouralism shortlived ?

(1) Inability to evolve consensus

(2) Too much dogmatism

(3) It was a localised event

(4) Coloured by Cold War prejudices

11. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) : According to Weber, comparative politics could be comprehended within
the larger framework of culture, which he did by demolishing Marx’s theory
of economic determinism.

Reason (R) : As without this rejection, his theory was totally untenable.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

12. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) : Institutional approach can help in mapping the landscape of politics.

Reason (R) : The goal of institutional approach is to reconcile the competing values of
individual freedom and collective equality.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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10. √ÿfl„Ê⁄UflÊŒ •À¬∑§ÊÁ‹∑§ ÄÿÊ¥ ÕÊ?

(1) ÄÿÊ¥Á∑§ fl„ ‚fl¸‚ê◊ÁûÊ ¬˝ÊåàÊ ∑§⁄UŸ ◊¥ •ˇÊ◊ ÕÊ–

(2) ß‚◊¥ •àÿÁœ∑§ ‚ÒhÊÁãÃ∑§ „∆UœÁ◊¸ÃÊ ÕË–

(3) ÿ„ Á∑§‚Ë SÕÊŸ Áfl‡Ê· Ã∑§ ‚ËÁ◊Ã ÕÊ–

(4) ÿ„ ‡ÊËÃ ÿÈh ∑§ ¬ÍflÊ¸ª˝„ ‚ ª˝Á‚Ã ÕÊ–

11. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈ U∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : fl’⁄U ∑§ •ŸÈ‚Ê⁄U, ÃÈ‹ŸÊà◊∑§ ⁄UÊ¡ŸËÁÃ ∑§Ê ‚¥S∑Î§ÁÃ ∑§ flÎ„Ã⁄U …UÊ¥ø ◊¥ ‚◊¤ÊÊ ¡Ê ‚∑§ÃÊ „Ò, •ÊÒ⁄U
©ã„Ê¥Ÿ ÿ„ ∑§Êÿ¸ ◊ÊÄ‚¸ ∑§ •ÊÁÕ¸∑§ ÁŸÿÁÃflÊŒ ∑§ Á‚hÊãÃ ∑§Ë œÁîÊÿÊ¥ ©«∏Ê ∑§⁄U Á∑§ÿÊ–

Ã∑¸§ (R) : ÄÿÊ¥Á∑§ ß‚ •SflË∑Î§ÁÃ ∑§ Á’ŸÊ ©Ÿ∑§Ê Á‚hÊãÃ ¬ÍáÊ¸Ã— •Ã∑¸§‚¥ªÃ ÕÊ–

∑Í§≈U —

(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, ¬⁄¥UÃÈ (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–

12. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : ‚¥SÕÊªÃ ©¬Êª◊ ‚ ⁄UÊ¡ŸËÁÃ ∑§ ¬Á⁄UŒÎ‡ÿ ∑§Ê πÊ∑§Ê ÃÒÿÊ⁄U ∑§⁄UŸ ◊¥ ◊ŒŒ Á◊‹ ‚∑§ÃË „Ò–

Ã∑¸§ (R) : ÄÿÊ¥Á∑§ ©‚ ∑§Êÿ¸∑§‹Ê¬ ∑§Ê ©g‡ÿ √ÿÁÄàÊªÃ SflÃ¥òÊÃÊ ∞fl¥ ‚Ê◊ÍÁ„∑§ ‚◊ÊŸÃÊ ∑§ ¬˝ÁÃS¬œË¸ ◊ÍÀÿÊ¥
◊¥ ‚Ê◊¥¡Sÿ SÕÊÁ¬Ã ∑§⁄UŸÊ „Ò–

∑Í§≈U —

(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, ‹Á∑§Ÿ (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–
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13. Which century according to Easton is “The Age of Scientific Method” ?

(1) Seventeenth Century (2) Eighteenth Century

(3) Nineteenth Century (4) Twentieth Century

14. Aristotle’s classification of constitutions was based on the categories of :

(1) who rules and who benefits from the rule

(2) ways and means of perpetuating in power

(3) accepting the basic formulations of Plato’s The Republic

(4) to ensure rule of the majority

15. Which one of the following countries follow a semi-presidential system ?

(1) Sri Lanka (2) Germany (3) Italy (4) France

16. Who challenged the established view that in Great Britain the Conservative party was elitist
and leader dominated, while the Labour party was characterised by a high measure of internal
democracy ?

(1) Robert Michels (2) Robert Mekenzie

(3) Tony Benn (4) Mosei Ostrogonski

17. Bureaucratic authoritarianism is a variant of :

(1) Military rule (2) Fascism (3) Communism (4) Despotism

18. Which theory held that as societies developed they would become capitalist democracies,
converging around a shared set of values and characteristics ?

(1) Dependency Theory (2) Structural Functional Theory

(3) Modernization Theory (4) Post-modernization Theory

19. Legitimation crisis as an alternative to Weberian approach to legitimacy was developed by :

(1) Miliband and Sweezy (2) Plekhanov and Lenin

(3) Camus and Sartre (4) Habermas and Offe
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13. ß¸S≈UŸ ∑§ •ŸÈ‚Ê⁄U, ∑§ÊÒŸ-‚Ë ‚ŒË flÒôÊÊÁŸ∑§ ÁflÁœ ∑§Ê ÿÈª „Ò?

(1) ‚ûÊ⁄U„flË¥ ‚ŒË (2) •∆UÊ⁄U„flË¥ ‚ŒË

(3) ©ãŸË‚flË¥ ‚ŒË (4) ’Ë‚flË¥ ‚ŒË

14. •⁄USÃÍ mÊ⁄UÊ Á∑§ÿÊ ªÿÊ ‚¥ÁflœÊŸÊ¥ ∑§Ê flªË¸∑§⁄UáÊ ß‚ ¬⁄U •ÊœÊÁ⁄UÃ ÕÊ Á∑§ —

(1) ∑§ÊÒŸ ‡ÊÊ‚Ÿ ∑§⁄UÃÊ „Ò •ÊÒ⁄U ‡ÊÊ‚Ÿ ‚ ∑§ÊÒŸ ‹Ê÷ÊÁãflÃ „ÊÃÊ „Ò–

(2) ‚ûÊÊ ◊¥ •Ÿfl⁄UÃ ’Ÿ ⁄U„Ÿ ∑§ ©¬Êÿ

(3) å‹≈UÊ ∑§ “Œ Á⁄U¬Áé‹∑§” ∑§ ◊Í‹ ¬˝ÁÃ¬ÊŒŸ ∑§Ê SflË∑§Ê⁄U ∑§⁄UŸÊ

(4) ’„È‚¥Åÿ∑§ ∑§Ê ‡ÊÊ‚Ÿ ‚ÈÁŸÁ‡øÃ ∑§⁄UŸÊ–

15. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ Œ‡Ê ◊¥ •œ¸-⁄UÊc≈˛U¬ÁÃ ¬˝áÊÊ‹Ë ¬˝øÁ‹Ã „Ò?

(1) üÊË‹¥∑§Ê (2) ¡◊¸ŸË (3) ß≈U‹Ë (4) »˝§Ê¥‚

16. Á∑§‚Ÿ ß‚ SÕÊÁ¬Ã ◊Ã ∑§Ê •SflË∑§Ê⁄U Á∑§ÿÊ Á∑§ ª˝≈U Á’˝≈UŸ ◊¥ ∑¥§¡⁄UflÁ≈Ufl ¬Ê≈UË¸ •Á÷¡ŸflÊŒË „Ò ÃÕÊ ß‚ ¬⁄U ŸÃÎàfl ∑§Ê
flø¸Sfl „ÊÃÊ „Ò •ÊÒ⁄U ‹’⁄U ¬Ê≈UË¸ •ÊãÃÁ⁄U∑§ ‹Ê∑§Ã¥òÊ ∑§ ©ìÊ ◊ÊŸŒ¥«U flÊ‹Ë ¬Ê≈UË¸ „Ò?

(1) ⁄UÊ’≈¸U Á◊‡ÊÀ‚ (2) ⁄UÊ’≈¸U ◊∑§ã¡Ë

(3) ≈UÊŸË ’ãŸ (4) ◊Ê‚ •ÊS≈˛UÊÇŸS∑§Ë

17. ŸÊÒ∑§⁄U‡ÊÊ„Ë ‚ûÊÊflÊŒ ∑§Ê ¬˝∑§Ê⁄U „Ò —

(1) ‚ÒÁŸ∑§ ‡ÊÊ‚Ÿ (2) $»§Ê‚ËflÊŒ (3) ‚ÊêÿflÊŒ (4) ÁŸ⁄¥U∑È§‡ÊflÊŒ

18. ÿ„ Á∑§‚ Á‚hÊãÃ ∑§Ê ◊Ã „Ò Á∑§ ¡Ò‚ „Ë ‚◊Ê¡ ∑§Ê Áfl∑§Ê‚ „ÊªÊ, fl„ ¬Í¥¡Ë¬ÁÃ ‹Ê∑§Ã¥òÊ ’Ÿ ¡ÊÿªÊ Á¡‚◊¥ ◊ÍÀÿÊ¥
∞fl¥ •Á÷‹ˇÊáÊUÊ¥ ∑§Ê ∞∑§ ‚Áê◊Á‹Ã ‚◊ÈìÊÿ „ÊªÊ?

(1) •ÊüÊÿÃÊ Á‚hÊãÃ (2) ‚¥⁄UøŸÊà◊∑§ ¬˝∑§Êÿ¸flÊŒË Á‚hÊãÃ

(3) •ÊœÈÁŸ∑§Ë∑§⁄UáÊ Á‚hÊãÃ (4) ©ûÊ⁄U-•ÊœÈÁŸ∑§Ë∑§⁄UáÊ Á‚hÊãÃ

19. flÒœÃÊ ∑§ fl’⁄U ©¬Êª◊ ∑§ Áfl∑§À¬ ∑§ M§¬ ◊¥ flÒœË∑§⁄UáÊ ‚¥∑§≈U Áfl∑§Á‚Ã Á∑§ÿÊ ªÿÊ —

(1) Á◊Á‹’Ò¥«U •ÊÒ⁄U SflË¡Ë mÊ⁄UÊ (2) å‹πÊŸÊfl •ÊÒ⁄U ‹ÁŸŸ mÊ⁄UÊ

(3) ∑§Ê◊È •ÊÒ⁄U ‚ÊòÊ¸ mÊ⁄UÊ (4) „’⁄U◊Ê‚ •ÊÒ⁄U •Ê»§ mÊ⁄UÊ
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20. Who said Revolution meant a drastic sudden substitution of one group in charge of the
running of a territorial political entity by another ?

(1) Hannah Arendt (2) Theda  Skocpol

(3) Crane Brinton (4) Hubert Johnson

21. Put the following events in their chronological order and select the correct answer from the
code given below :

Poona Pact, Third Round Table Conference, Swaraj Party, Communal Award, Nehru Report.

Code :

(1) Swaraj Party, Poona Pact, Third Round Table Conference, Nehru Report, Communal
Award

(2) Swaraj Party, Nehru Report, Communal Award, Poona Pact, Third Round Table
Conference

(3) Poona Pact, Swaraj Party, Communal Award, Nehru Report, Third Round Table
Conference

(4) Nehru Report, Third Round Table Conference, Swaraj Party, Poona Pact, Communal
Award

22. Which of the following parties/groups the Cabinet Mission did not recognise ?

(1) The Muslim League (2) The Congress

(3) The Sikhs (4) The Princes Guild

23. Which of the following come within the ambit of Article 21 of the Indian Constitution ?

(a) Right to shelter (b) Right to good roads

(c) Right to reputation (d) Right to pure drinking water

Select the correct answer from the code given below :

Code :

(1) (a) and (b) (2) (a), (c) and (d)

(3) (a), (b) and (d) (4) (a), (b), (c) and (d)
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20. ÿ„ Á∑§‚Ÿ ∑§„Ê „Ò ∑˝§Ê¥ÁÃ ∑§Ê •Á÷¬˝Êÿ Á∑§‚Ë ∞∑§ ÷Í÷ÊªËÿ ⁄UÊ¡ŸËÁÃ∑§ ‚ûÊÊ ∑§Ê ø‹ÊŸ flÊ‹ Á∑§‚Ë ¬˝÷Ê⁄UË ‚◊Í„ ∑§Ê
Á∑§‚Ë •ãÿ ‚◊Í„ mÊ⁄UÊ ‚‡ÊÄàÊ •Ê∑§ÁS◊∑§ ¬˝ÁÃSÕÊ¬Ÿ „Ò?

(1) „ŸÊ •Ê⁄UŸ (2) Õ«UÊ S∑§Ê∑§¬ÊÚ‹

(3) ∑˝§Ÿ Á’˝¥≈UŸ (4) „È’≈¸U ¡ÊÚŸ‚Ÿ

21. ÁãÊêŸÁ‹ÁπÃ ÉÊ≈UŸÊ•Ê¥ ∑§Ê ©Ÿ∑§ ‚„Ë ∑§Ê‹∑˝§◊ ◊¥ √ÿflÁSÕÃ ∑§ËÁ¡ÿ •ÊÒ⁄U ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

¬ÍŸÊ ¬ÒÄ≈U, ÃË‚⁄UÊ ªÊ‹ ◊¡ ‚ê◊‹Ÿ, Sfl⁄UÊ¡ ¬Ê≈UË¸, ∑§êÿÍŸ‹ •flÊ«¸U, Ÿ„M§ Á⁄U¬Ê≈¸U

∑Í§≈U —

(1) Sfl⁄UÊ¡ ¬Ê≈UË¸, ¬ÍŸÊ ¬ÒÄ≈U, ÃË‚⁄UÊ ªÊ‹ ◊¡ ‚ê◊‹Ÿ, Ÿ„M§ Á⁄U¬Ê≈¸U, ∑§êÿÍŸ‹ •flÊ«¸U

(2) Sfl⁄UÊ¡ ¬Ê≈UË¸, Ÿ„M§ Á⁄U¬Ê≈¸U, ∑§êÿÍŸ‹ •flÊ«¸U, ¬ÍŸÊ ¬ÒÄ≈U, ÃË‚⁄UÊ ªÊ‹ ◊¡ ‚ê◊‹Ÿ

(3) ¬ÍŸÊ ¬ÒÄ≈U, Sfl⁄UÊ¡ ¬Ê≈UË¸, ∑§êÿÍŸ‹ •flÊ«¸U, Ÿ„M§ Á⁄U¬Ê≈¸U, ÃË‚⁄UÊ ªÊ‹ ◊¡ ‚ê◊‹Ÿ

(4) Ÿ„M§ Á⁄U¬Ê≈¸U, ÃË‚⁄UÊ ªÊ‹ ◊¡ ‚ê◊‹Ÿ, Sfl⁄UÊ¡ ¬Ê≈UË¸, ¬ÍŸÊ ¬ÒÄ≈U, ∑§êÿÍŸ‹ •flÊ«¸U

22. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ Œ‹ / ‚◊Í„ ∑§Ê ∑Ò§Á’Ÿ≈U Á◊‡ÊŸ Ÿ ◊ÊãÿÃÊ ¬˝ŒÊŸ Ÿ„Ë¥ ∑§Ë?

(1) ◊ÈÁS‹◊ ‹Ëª (2) ∑§Ê°ª̋‚

(3) Á‚Äπ (4) Œ Á¬˝¥‚‚ ÁªÀ«U

23. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ÷Ê⁄UÃ ∑§ ‚¥ÁflœÊŸ ∑§ •ŸÈë¿UŒ 21 ∑§ ˇÊòÊ ◊¥ •ÊÃ „Ò¥?

(a) •ÊüÊÿ ∑§Ê •Áœ∑§Ê⁄U (b) •ë¿UË ‚«∏∑§Ê¥ ∑§Ê •Áœ∑§Ê⁄U

(c) ÅÿÊÁÃ ∑§Ê •Áœ∑§Ê⁄U (d) ‡ÊÈh ¬ÿ ¡‹ ∑§Ê •Áœ∑§Ê⁄U

ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U øÈŸ¥ —

∑Í§≈U —

(1) (a) •ÊÒ⁄U (b) (2) (a), (c) •ÊÒ⁄U (d)

(3) (a), (b) •ÊÒ⁄U (d) (4) (a), (b), (c) •ÊÒ⁄U (d)
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24. Which of the following cases reflect on the elements of the basic structure of the Indian
Constitution ?  Choose correct answer from the code given below :

(a) Indira Nehru Gandhi V. Raj Narain

(b) Kesavanand Bharti V. State of Kerala

(c) S.P. Gupta V. Union of India

(d) Minerva Mills V. Union of India

Code :

(1) (a), (b) and (d) only (2) (a), (b), (c) and (d)

(3) (c), (d) and (b) only (4) (a), (b) and (c) only

25. When were the rules regarding Department Related Parliamentary standing committees made
in India ?

(1) 1977 (2) 1981 (3) 1989 (4) 2010

26. Which of the following state has a seat reserved on the basis of religion in the Legislative
Assembly ?

(1) Goa (2) Mizoram

(3) Jammu and Kashmir (4) Sikkim

27. Which of the following pairs is not correctly matched ?

(1) Rolling Plan - National Front Government

(2) 20 Point Programme - Congress Government

(3) National Commission to Review -  NDA-I Government
the Working of the
Constitution

(4) National Rural Employment - UPA-I Government
Guarantee Act

28. Who among the following was not a member of the Sarkaria Commission on Centre-State
Relations ?

(1) Justice R.S. Sarkaria (2) G.V. Ramakrishna

(3) B. Shivaraman (4) Dr. S.R. Sen

29. Since when the Election Commission of India has become a three member body ?

(1) 1989 (2) 1990 (3) 1993 (4) 2001
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24. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚ ◊Ê◊‹ ÷Ê⁄UÃËÿ ‚¥ÁflœÊŸ ∑§Ê •ÊœÊ⁄U÷ÍÃ …UÊ¥ø ∑§ ◊Í‹ Ãàfl ¬⁄U ÁfløÊ⁄U ∑§⁄UÃ „Ò¥?  ŸËø ÁŒ∞
ª∞ ∑Í§≈U ∑§Ê ¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸ∞ —

(a) ßÁãŒ⁄UÊ Ÿ„M§ ªÊ¥œË ’ŸÊ◊ ⁄UÊ¡ ŸÊ⁄UÊÿáÊ

(b) ∑§‡ÊflÊŸãŒ ÷Ê⁄UÃË ’ŸÊ◊ ∑§⁄U‹ ⁄UÊíÿ

(c) ∞‚.¬Ë. ªÈåàÊÊ ’ŸÊ◊ ÷Ê⁄UÃ ‚¥ÉÊ

(d) Á◊ŸflÊ¸ Á◊À‚ ’ŸÊ◊ ÷Ê⁄UÃ ‚¥ÉÊ

∑Í§≈U —

(1) ∑§fl‹ (a), (b) •ÊÒ⁄U (d) (2) (a), (b), (c) •ÊÒ⁄U (d)

(3) ∑§fl‹ (c), (d) •ÊÒ⁄U (b) (4) ∑§fl‹ (a), (b) •ÊÒ⁄U (c)

25. ÷Ê⁄UÃ ◊¥ Áfl÷ÊªÊ¥ ‚ ‚¥’¥ÁœÃ ‚¥‚ŒËÿ SÕÊÿË ‚Á◊ÁÃÿÊ¥ ∑§ ’Ê⁄U ◊¥ ÁŸÿ◊ ∑§’ ’ŸÊÿ ªÿ?

(1) 1977 (2) 1981 (3) 1989 (4) 2010

26. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ⁄UÊíÿ ∑§Ë ÁflœÊŸ ‚÷Ê ◊¥ ∞∑§ ‚Ë≈U œ◊¸ ∑§ •ÊœÊ⁄U ¬⁄U •Ê⁄UÁˇÊÃ „Ò?

(1) ªÊflÊ (2) Á◊¡Ê⁄U◊

(3) ¡ê◊Í fl ∑§‡◊Ë⁄U (4) Á‚ÁÄ∑§◊

27. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ÿÈÇ◊ ‚È◊Á‹Ã Ÿ„Ë¥ „Ò?

(1) ø‹ ∑§Êÿ¸∑˝§◊ (⁄UÊÁ‹¥ª å‹ÊŸ) - ⁄UÊc≈˛UËÿ ◊ÊøÊ¸ ‚⁄U∑§Ê⁄U

(2) 20 ‚ÍòÊË ∑§Êÿ¸∑˝§◊ - ∑§Ê¥ª˝‚ ‚⁄U∑§Ê⁄U

(3) ‚¥ÁflœÊŸ ∑§Ë ¬ÈŸ⁄UËˇÊÊ „ÃÈ ⁄UÊc≈˛UËÿ •ÊÿÊª -  ∞Ÿ «UË ∞ - I ‚⁄U∑§Ê⁄U

(4) ⁄UÊc≈˛UËÿ ª˝Ê◊ËáÊ ⁄UÊ¡ªÊ⁄U ªÊ⁄Uá≈UË •ÁœÁŸÿ◊ - ÿÍ ¬Ë ∞ - I ‚⁄U∑§Ê⁄U

28. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ∑¥§Œ˝-⁄UÊíÿ ‚¥’¥œ ∑§ Áfl·ÿ ◊¥ ‚⁄U∑§ÊÁ⁄UÿÊ •ÊÿÊª ∑§Ê ‚ŒSÿ Ÿ„Ë¥ ÕÊ?

(1) ãÿÊÿ◊ÍÁÃ¸ •Ê⁄U.∞‚. ‚⁄U∑§ÊÁ⁄UÿÊ (2) ¡Ë.flË. ⁄UÊ◊∑Î§cáÊ

(3) ’Ë. Á‡Êfl⁄U◊Ÿ (4) «UÊÚ.∞‚.•Ê⁄U. ‚Ÿ

29. Á∑§‚ ‚◊ÿ ‚ ÷Ê⁄UÃ ∑§ øÈŸÊfl •ÊÿÊª ∑§Ê ÃËŸ ‚ŒSÿ flÊ‹Ê ÁŸ∑§Êÿ ’ŸÊÿÊ ªÿÊ?

(1) 1989 (2) 1990 (3) 1993 (4) 2001
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30. Arrange the following peasant movements in their chronological order.  Select the correct
answer from the code given below :

(a) Tebhaga (b) Champaran (c) Singur (d) Bardoli

Code :

(1) (b), (a), (c), (d)

(2) (b), (d), (a), (c)

(3) (c), (a), (b), (d)

(4) (d), (b), (c), (a)

31. Which of the following approaches is the precursor of the Ecological approach ?

(1) Classical approach (2) Human Relations approach

(3) Systems approach (4) Behavioural approach

32. Match List - I with List - II and select the correct answer from the code given below :

       List - I   List - II

    (Theory) (Thinker)

(a) Classical Theory (i) Elton Mayo

(b) Human Relations Theory (ii) Henry Fayol

(c) Decision-Making Theory (iii) V. Ostrom

(d) Public Choice Theory (iv) Herbert Simon

Code :

(a) (b) (c) (d)

(1) (i) (ii) (iv) (iii)

(2) (ii) (iii) (iv) (i)

(3) (i) (ii) (iii) (iv)

(4) (ii) (i) (iv) (iii)
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30. ÁŸêŸÁ‹ÁπÃ Á∑§‚ÊŸ •Ê¥ŒÊ‹ŸÊ¥ ∑§Ê ©Ÿ∑§ ‚„Ë ∑§Ê‹∑˝§◊ÊŸÈ‚Ê⁄U √ÿflÁSÕÃ ∑§ËÁ¡∞–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê
øÿŸ ∑§ËÁ¡∞ —

(a) Ã÷ÊªÊ (b) øê¬Ê⁄UáÊ (c) Á‚¥ªÍ⁄U (d) ’Ê⁄U«UÊ‹Ë

∑Í§≈U —

(1) (b), (a), (c), (d)

(2) (b), (d), (a), (c)

(3) (c), (a), (b), (d)

(4) (d), (b), (c), (a)

31. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ¬ÊÁ⁄UÁSÕÁÃ∑§Ë ©¬Êª◊ ∑§Ê ¬Ífl¸flÃË¸ „Ò?

(1) ¬⁄Uê¬⁄UÊªÃ ©¬Êª◊ (2) ◊ÊŸfl ‚¥’¥œ ©¬Êª◊

(3) √ÿflSÕÊ ©¬Êª◊ (4) √ÿfl„Ê⁄UflÊŒË ©¬Êª◊

32. ‚ÍøË - I ∑§Ê ‚ÍøË - II ‚ ‚È◊Á‹Ã ∑§⁄¥U •ÊÒ⁄U ÁŒ∞ ª∞ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§⁄¥U —

  ‚ÍøË - I  ‚ÍøË - II

(Á‚hÊãÃ) (Áø¥Ã∑§)

(a) ¬⁄Uê¬⁄UÊªÃ Á‚hÊãÃ (i) ∞À≈UŸ ◊ÿÊ

(b) ◊ÊŸfl ‚¥’¥œ Á‚hÊãÃ (ii) „Ÿ⁄UË »§ÿÊ‹

(c) ÁŸáÊ¸ÿ-ÁŸ◊Ê¸áÊ Á‚hÊãÃ (iii) flË. •ÊS≈˛UÊ◊

(d) ‹Ê∑§ fl⁄UáÊ Á‚hÊãÃ (iv) „⁄U’≈¸U ‚Êß◊Ÿ

∑Í§≈U —

(a) (b) (c) (d)

(1) (i) (ii) (iv) (iii)

(2) (ii) (iii) (iv) (i)

(3) (i) (ii) (iii) (iv)

(4) (ii) (i) (iv) (iii)
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33. Who among the following  has specified six qualities of an administrator / manager - physical,
mental, moral, general education, special knowledge and experience ?

(1) Fayol (2) Gulick (3) Urwick (4) Follet

34. Which of the following is an example of auxiliary agency ?

(1) Department of Defence (2) Department of Home

(3) Prime Minister’s Office (PMO) (4) Public Works Department

35. Which one of the following types of bureaucracy tend to exhibit a bias towards party
interests ?

(1) Caste bureaucracy (2) Patronage bureaucracy

(3) Guardian bureaucracy (4) Ruling bureaucracy

36. Which of the following are excluded from the RTI Act ?

(a) Central Bureau of Investigation (CBI)

(b) Research and Analysis Wing (RAW)

(c) Central Reserve Police Force (CRPF)

(d) Prime Minister’s Office (PMO)

Select the correct answer from the code given below :

(1) (a) and (d) (2) (a) and (b) (3) (a), (b) and (c) (4) (c) and (d)

37. Which of the following commissions/committees recommended that the financial year should
be from January 1 to December 31 ?

(1) L.K. Jha Committee (2) Sarkaria Commission

(3) Sixth Pay Commission (4) Second Administrative Reforms Commission

38. Which one of the following types of training prepares future recruits for the public service ?

(1) Informal training (2) Formal training

(3) Pre - entry training (4) Post - entry training
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33. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚Ÿ Á∑§‚Ë ¬˝‡ÊÊ‚∑§ / ¬˝’¥œ∑§ ∑§Ë ¿U„ Áfl‡Ê·ÃÊ∞¥ ÁflÁŸÁŒ¸c≈U ∑§Ë „Ò¥ - ‡ÊÊ⁄UËÁ⁄U∑§, ◊ÊŸÁ‚∑§, ŸÒÁÃ∑§,
‚Ê◊Êãÿ Á‡ÊˇÊÊ, ÁflÁ‡Êc≈U ôÊÊŸ •ÊÒ⁄U •ŸÈ÷fl?

(1) »§ÿÊ‹ (2) ªÈÁ‹∑§ (3) ©UÁfl¸∑§ (4) »§Ê‹≈U

34. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚„Êÿ∑§ ∞¡¥‚Ë ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ „Ò?

(1) ⁄UˇÊÊ Áfl÷Êª (2) ªÎ„ Áfl÷Êª

(3) ¬˝œÊŸ ◊¥òÊË ∑§ÊÿÊ¸‹ÿ (¬Ë ∞◊ •Ê) (4) ‹Ê∑§ ÁŸ◊Ê¸áÊ Áfl÷Êª

35. ŸÊÒ∑§⁄U‡ÊÊ„Ë ∑§Ê ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ¬˝∑§Ê⁄U Œ‹ªÃ Á„ÃÊ¥ ∑§ ¬˝ÁÃ ¬ÍflÊ¸ª˝„ Œ‡ÊÊ¸ÃÊ „Ò?

(1) ¡ÊÁÃ ŸÊÒ∑§⁄U‡ÊÊ„Ë (2) ‚¥⁄UˇÊáÊ ŸÊÒ∑§⁄U‡ÊÊ„Ë

(3) ‚¥⁄UˇÊ∑§ ŸÊÒ∑§⁄U‡ÊÊ„Ë (4) ‚ûÊÊœÊ⁄UË ŸÊÒ∑§⁄U‡ÊÊ„Ë

36. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§ã„¥ ‚ÍøŸÊ ∑§Ê •Áœ∑§Ê⁄U •ÁœÁŸÿ◊ ◊¥ ‡ÊÊÁ◊‹ Ÿ„Ë¥ Á∑§ÿÊ ªÿÊ „Ò?

(a) ∑¥§Œ˝Ëÿ •ãfl·áÊ éÿÍ⁄UÊ (‚Ë ’Ë •Êß¸)

(b) Á⁄U‚ø¸ ∞¥«U ∞ŸÊ‹ÊßÁ‚‚ Áfl¥ª (⁄UÊÚ)

(c) ∑¥§Œ˝Ëÿ Á⁄U$¡fl¸ ¬ÈÁ‹‚ ’‹ (‚Ë •Ê⁄U ¬Ë ∞»§)

(d) ¬˝œÊŸ ◊¥òÊË ∑§ÊÿÊ¸‹ÿ (¬Ë ∞◊ •Ê)

ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§⁄¥U —

(1) (a) •ÊÒ⁄U (d) (2) (a) •ÊÒ⁄U (b) (3) (a), (b) •ÊÒ⁄U (c) (4) (c) •ÊÒ⁄U (d)

37. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ •ÊÿÊª/‚Á◊ÁÃ Ÿ ÿ„ Á‚»§ÊÁ⁄U‡Ê ∑§Ë „Ò Á∑§ ÁflûÊ fl·¸ 1 ¡Ÿfl⁄UË ‚ 31 ÁŒ‚¥’⁄U Ã∑§ „Ê ?

(1) ∞‹.∑§. ¤ÊÊ ‚Á◊ÁÃ (2) ‚⁄U∑§ÊÁ⁄UÿÊ •ÊÿÊª

(3) ¿U∆UÊ flÃŸ •ÊÿÊª (4) ÁmÃËÿ ¬˝‡ÊÊ‚ÁŸ∑§ ‚ÈœÊ⁄U •ÊÿÊª

38. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ¬˝∑§Ê⁄U ∑§ ¬˝Á‡ÊˇÊáÊ mÊ⁄UÊ ‹Ê∑§ ‚flÊ „ÃÈ ÷ÊflË ÷ÃË¸ Á∑§ÿ ¡ÊŸ flÊ‹Ê¥ ∑§Ê ÃÒÿÊ⁄U Á∑§ÿÊ ¡ÊÃÊ „Ò?

(1) •ŸÊÒ¬øÊÁ⁄U∑§ ¬˝Á‡ÊˇÊáÊ (2) •ÊÒ¬øÊÁ⁄U∑§ ¬˝Á‡ÊˇÊáÊ

(3) ¬˝fl‡Ê ¬Ífl¸ ¬˝Á‡ÊˇÊáÊ (4) ¬˝fl‡Ê ¬‡øÊÃ˜ ¬˝Á‡ÊˇÊáÊ
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39. Which of the following statements are correct about the Central Vigilance Commission ?

(a) It was set up on the recommendation of the Santhanam Committee

(b) It is a statutory body

(c) It is a multi-member commission

(d) It exercises superintendence over the working of the CBI

Select the correct answer from the code given below :

(1) (a) and (b) only (2) (b) and (c) only

(3) (a), (b) and (c) (4) (a), (b), (c) and (d)

40. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).  Select the correct answer from the code given below :

Assertion (A) : The expenditure charged on the Consolidated Fund of India is not subject
to the vote of Parliament.

Reason (R) : It is in the nature of obligatory payment.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

41. Which of the following combination game theory utilizes to analyse strategic interaction
among decision - makers ?

(1) Mathematics and Reason (2) Reason and Logic

(3) Logic and Rationality (4) Mathematics and Logic

42. Consider the following statements with regard to MTCR :

(a) China is not a member of MTCR

(b) India is a member of MTCR

(c) Aims at restricting complete rocket systems

(d) Pakistan is a member of MTCR

Select the correct answer from the code given below :

(1) (a), (b), (c) (2) (b), (d), (c)

(3) (b), (c), (d) (4) (d), (b), (a)
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39. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚ ∑§ÕŸ ∑¥§Œ˝Ëÿ ‚Ã∑¸§ÃÊ •ÊÿÊª ∑§ ’Ê⁄U ◊¥ ‚„Ë „Ò¥?

(a) ß‚∑§Ë SÕÊ¬ŸÊ ‚ãÕÊŸ◊ ‚Á◊ÁÃ ∑§Ë Á‚»§ÊÁ⁄U‡Ê ¬⁄U ∑§Ë ªß¸ ÕË–

(b) ÿ„ ∞∑§ ‚Ê¥ÁflÁœ∑§ ÁŸ∑§Êÿ „Ò–

(c) ÿ„ •Ÿ∑§ ‚ŒSÿÊ¥ flÊ‹Ê ∞∑§ •ÊÿÊª „Ò–

(d) ÿ„ ∑¥§Œ˝Ëÿ •ãfl·áÊ éÿÍ⁄UÊ (‚Ë ’Ë •Êß¸) ∑§ ∑§Êÿ¸ ∑§Ê ¬ÿ¸flˇÊáÊ ∑§⁄UÃÊ „Ò–

ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§⁄¥U —

(1) ∑§fl‹ (a) •ÊÒ⁄U (b) (2) ∑§fl‹ (b) •ÊÒ⁄U (c)

(3) (a), (b) •ÊÒ⁄U (c) (4) (a), (b), (c) •ÊÒ⁄U (d)

40. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : ÷Ê⁄UÃ ∑§Ë ‚¥ÁøÃ ÁŸÁœ ¬⁄U ÷ÊÁ⁄UÃ √ÿÿ ‚¥‚Œ ∑§ ◊Ã ∑§ •äÿœËŸ Ÿ„Ë¥ „Ò–

Ã∑¸§ (R) : ß‚∑§Ê SflM§¬ ’Êäÿ∑§⁄U ÷ÈªÃÊŸ ∑§Ê „Ò–

∑Í§≈U —

(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „Ò¥, ‹Á∑§Ÿ (R), (A) ∑§Ê ‚„Ë S¬c≈UË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–

41. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ fl„ ∑§ÊÒŸ-‚Ê ‚◊ÈìÊÿ „Ò Á¡‚∑§Ê ©¬ÿÊª π‹ Á‚hÊãÃ (ª◊ âÿÊ⁄UË) ◊¥ ÁŸáÊ¸ÿ ∑§⁄UŸ flÊ‹Ê¥ ∑§ ’Ëø
⁄UáÊŸËÁÃ∑§ ‚¥flÊŒ ∑§Ê Áfl‡‹·áÊ ∑§⁄UŸ „ÃÈ Á∑§ÿÊ ¡ÊÃÊ „Ò?

(1) ªÁáÊÃ •ÊÒ⁄U ∑§Ê⁄UáÊ (2) ∑§Ê⁄UáÊ •ÊÒ⁄U Ã∑¸§

(3) Ã∑¸§ •ÊÒ⁄U ÿÈÁÄàÊ◊Í‹∑§ÃÊ (4) ªÁáÊÃ •ÊÒ⁄U Ã∑¸§

42. ∞◊ ≈UË ‚Ë •Ê⁄U ∑§ ‚¥’¥œ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ¬⁄U ÁfløÊ⁄U ∑§⁄¥U —

(a) øËŸ ∞◊ ≈UË ‚Ë •Ê⁄U ∑§Ê ‚ŒSÿ Ÿ„Ë¥ „Ò–

(b) ÷Ê⁄UÃ ∞◊ ≈UË ‚Ë •Ê⁄U ∑§Ê ‚ŒSÿ „Ò–

(c) ß‚∑§Ê ‹ˇÿ ¬ÍáÊ¸ ⁄UÊÚ∑§≈U ¬˝áÊÊ‹Ë ∑§Ê ‚ËÁ◊Ã ∑§⁄UŸÊ „Ò–

(d) ¬ÊÁ∑§SÃÊŸ ∞◊ ≈UË ‚Ë •Ê⁄U ∑§Ê ‚ŒSÿ „Ò–

ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(1) (a), (b), (c) (2) (b), (d), (c)

(3) (b), (c), (d) (4) (d), (b), (a)
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43. Which one of the following is not a criteria of just war ?

(1) Be authorized by a sovereign prince

(2) Be proportionate

(3) Be pursued for just intent

(4) be undeclared

44. Whose Presidency in America was marked by ‘war on terrorism’ ?

(1) George H W Bush (2) George W Bush Jr

(3) Bill Clinton (4) Barack Obama

45. A unipolar condition to which George W Bush Jr referred as a balance of power that favours :

(1) Security (2) Cooperation (3) Peace (4) Freedom

46. Match List - I with List - II and select the correct answers from the code given below :

List - I     List - II

      (Authors)    (Books)

(a) Andrew Linklater (i) Cooperation under Anarchy

(b) F. Clark (ii) The transformation of political community

(c) Kenneth Oye (iii) Gendering world politics

(d) J.A. Tickner (iv) Hegemony in International Studies

Code :

(a) (b) (c) (d)

(1) (ii) (i) (iv) (iii)

(2) (iii) (ii) (i) (iv)

(3) (ii) (iv) (i) (iii)

(4) (iv) (ii) (i) (iii)

47. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).  Select the correct answer from the code given below :

Assertion (A) : India is seeking permanent membership of Security Council of UNO.

Reason (R) : India is a nuclear power.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true
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43. ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ ãÿÊƒÿ ÿÈh ∑§Ê ∞∑§ ◊Ê¬Œá«U Ÿ„Ë¥ „Ò?
(1) ‚ê¬˝÷È ⁄UÊ¡∑È§◊Ê⁄U mÊ⁄UÊ •Áœ∑Î§Ã „ÊŸÊ

(2) •ÊŸÈ¬ÊÁÃ∑§ „ÊŸÊ

(3) ãÿÊÿ‚¥ªÃ ©g‡ÿ ∑§ Á‹∞ Á∑§ÿÊ ¡ÊŸÊ

(4) •ÉÊÊÁ·Ã „ÊŸÊ

44. •◊Á⁄U∑§Ê ◊¥ Á∑§‚ ⁄UÊC˛¬ÁÃ ∑§ ∑§Êÿ¸∑§Ê‹ ∑§Ê “•ÊÃ¥∑§flÊŒ ∑§ ÁflL§h ‹«∏Êß¸” ∑§ ŒÊÒ⁄U ∑§ M§¬ ◊¥ ¡ÊŸÊ ¡ÊÃÊ „Ò?

(1) ¡Ê¡¸ ∞ø˜ «UéÀÿÍ ’È‡Ê (2) ¡Ê¡¸ «UéÀÿÍ ’È‡Ê ¡ÍÁŸÿ⁄U

(3) Á’‹ ÁÄ‹¥≈UŸ (4) ’⁄UÊ∑§ •Ê’Ê◊Ê

45. ∞∑§ ∞∑§œ̋ÈflËÿ ÁSÕÁÃ Á¡‚∑§Ê ©À‹π ¡Ê¡̧ «UéÀÿÍ ’È‡Ê ¡ÍÁŸÿ⁄U Ÿ ‡ÊÁÄàÊ ∑§ ‚¥ÃÈ‹Ÿ ∑§ M§¬ ◊¥ Á∑§ÿÊ „Ò ¡Ê Á„◊ÊÿÃË „Ò —

(1) ‚È⁄UˇÊÊ ∑§Ê (2) ‚„ÿÊª ∑§Ê (3) ‡ÊÊ¥ÁÃ ∑§Ê (4) SflÃ¥òÊÃÊ ∑§Ê

46. ‚ÍøË - I ‚ ‚ÍøË - II ∑§Ê ‚È◊Á‹Ã ∑§⁄¥U •ÊÒ⁄U ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§⁄¥U —

    ‚ÍøË - I ‚ÍøË - II

  (‹π∑§) (ª˝¥Õ)
(a) ∞ã«˛UKÍ Á‹¥∑§‹≈U⁄U (i) ∑§Ê¬⁄U‡ÊŸ •á«U⁄U ∞ŸÊ∑§Ë¸

(b) ∞»§. Ä‹Ê∑¸§ (ii) Œ ≈˛UÊ¥‚»§Ê◊¸‡ÊŸ •ÊÚ»§ ¬ÊÁ‹Á≈U∑§‹ ∑§êÿÍÁŸÁ≈U

(c) ∑§ŸÕ •Êÿ (iii) ¡ã«UÁ⁄¥Uª flÀ«¸U ¬ÊÁ‹Á≈UÄ‚

(d) ¡. ∞. Á≈U∑§Ÿ⁄U (iv) „¡◊ÊÚŸË ßŸ ßã≈U⁄UŸ‡ÊŸ‹ S≈U«UË¡

∑Í§≈U —
(a) (b) (c) (d)

(1) (ii) (i) (iv) (iii)

(2) (iii) (ii) (i) (iv)

(3) (ii) (iv) (i) (iii)

(4) (iv) (ii) (i) (iii)

47. ŸËø ŒÊ ∑§ÕŸ ÁŒÿ ªÿ „Ò¥, ∞∑§ ∑§Ê •Á÷∑§ÕŸ (A) •ÊÒ⁄U ŒÍ‚⁄U ∑§Ê Ã∑¸§ (R) ∑§„Ê ªÿÊ „Ò–  ŸËø ÁŒÿ ªÿ ∑Í§≈U ∑§Ê
¬˝ÿÊª ∑§⁄U ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

•Á÷∑§ÕŸ (A) : ÷Ê⁄UÃ ‚¥ÿÈÄàÊ ⁄UÊC˛ ‚¥ÉÊ ∑§Ë ‚È⁄UˇÊÊ ¬Á⁄U·Œ ∑§Ê SÕÊÿË ‚ŒSÿ ’ŸŸÊ øÊ„ÃÊ „Ò–

Ã∑¸§ (R) : ÷Ê⁄UÃ ∞∑§ ¬⁄U◊ÊáÊÈ ‡ÊÁÄàÊ ‚ê¬ÛÊ ⁄UÊC˛ „Ò–

∑Í§≈U —
(1) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, •ÊÒ⁄U (R), (A) ∑§Ê ‚„Ë S¬CË∑§⁄UáÊ „Ò–

(2) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚àÿ „Ò¥, ¬⁄¥UÃÈ (R), (A) ∑§Ê ‚„Ë S¬CË∑§⁄UáÊ Ÿ„Ë¥ „Ò–

(3) (A) ‚àÿ „Ò, ¬⁄¥UÃÈ (R) •‚àÿ „Ò–

(4) (A) •‚àÿ „Ò, ¬⁄¥UÃÈ (R) ‚àÿ „Ò–
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48. Match the List - I with List - II and select the correct answer from the code given below :

List - I List - II

(a) Nixon doctrine (i) Support to anti-guerilla movements

(b) Kennedy doctrine (ii) Pursuit of peace through a partnership with allies

(c) Reagan doctrine (iii) Intervention to prevent genocide

(d) Clinton doctrine (iv) Foreign policy initiatives towards Latin America

Code :

(a) (b) (c) (d)

(1) (i) (iii) (iv) (ii)

(2) (iii) (ii) (iv) (i)

(3) (iv) (ii) (iii) (i)

(4) (ii) (iv) (i) (iii)

49. Consider the following statements with regard to Non aligned movement.

(a) Julius Nyerere was one of the founding members of NAM

(b) India hosted seventh NAM summit

(c) The seventeenth NAM summit was held in Venezuela

(d) The headquarters of NAM is in Belgrade

Select the correct answer from the code given below :

(1) (a), (b) and (c) (2) (a), (c) and (d)

(3) (b) and (c) (4) (b) and (d)

50. Which one of the following is not part of ‘Three Pillars’ of R2P (Responsibility to Protect) ?

(1) If a state fails to protect its population, International community take collective action
in accordance with the UN Charter

(2) It is state’s responsibility to protect its population from four mass atrocity crimes

(3) It is the responsibility of International Community to protect people from crimes against
humanity

(4) International Community’s responsibility to assist individual states in meeting the
responsibility

- o O o -
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48. ‚ÍøË - I ∑§Ê ‚ÍøË - II ‚ ‚È◊Á‹Ã ∑§⁄¥U •ÊÒ⁄U ŸËø ÁŒ∞ ª∞ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÿŸ ∑§⁄¥U —

    ‚ÍøË - I    ‚ÍøË - II

(a) ÁŸÄ‚Ÿ Á‚hÊãÃ (i) ªÈÁ⁄UÀ‹Ê Áfl⁄UÊœË •Ê¥ŒÊ‹ŸÊ¥ ∑§Ê ‚◊Õ¸Ÿ

(b) ∑§Ÿ«UË Á‚hÊãÃ (ii) Á◊òÊ ⁄UÊC˛Ê¥ ∑§ ‚ÊÕ ÷ÊªËŒÊ⁄UË mÊ⁄UÊ ‡ÊÊ¥ÁÃ ∑§Ê ¬˝ÿÊ‚

(c) ⁄UËªŸ Á‚hÊãÃ (iii) Ÿ⁄U ‚¥„Ê⁄U ⁄UÊ∑§Ÿ „ÃÈ „SÃˇÊ¬

(d) ÁÄ‹¥≈UŸ Á‚hÊãÃ (iv) ‹ÒÁ≈UŸ-•◊Á⁄U∑§Ë ⁄UÊC˛Ê¥ ∑§ ¬˝ÁÃ ÁflŒ‡Ê ŸËÁÃ ∑§Ë ¬„‹

∑Í§≈U —

(a) (b) (c) (d)

(1) (i) (iii) (iv) (ii)

(2) (iii) (ii) (iv) (i)

(3) (iv) (ii) (iii) (i)

(4) (ii) (iv) (i) (iii)

49. ÁŸª¸È≈U •Ê¥ŒÊ‹Ÿ ∑§ ‚¥’¥œ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞ —

(a) ¡ÈÁ‹ÿ‚ ãÿ⁄U⁄U ÁŸªÈ¸≈U •Ê¥ŒÊ‹Ÿ (ŸÒ◊) ∑§ ∞∑§ ‚¥SÕÊ¬∑§ ‚ŒSÿ Õ–

(b) ÷Ê⁄UÃ Ÿ ‚ÊÃflË¥ ŸÒ◊ Á‡Êπ⁄U ’Ò∆U∑§ ∑§Ë ◊¡’ÊŸË ∑§Ë ÕË–

(c) ‚òÊ„flË¥ ŸÒ◊ Á‡Êπ⁄U ’Ò∆U∑§ flŸ¡È∞‹Ê ◊¥ •ÊÿÊÁ¡Ã ∑§Ë ªß¸ ÕË–

(d) ŸÒ◊ ∑§Ê ◊ÈÅÿÊ‹ÿ ’‹ª˝«U ◊¥ „Ò–

ŸËø ÁŒÿ ªÿ ∑Í§≈U ‚ ‚„Ë ©ûÊ⁄U øÈÁŸÿ —

(1) (a), (b) •ÊÒ⁄U (c) (2) (a), (c) •ÊÒ⁄U (d)

(3) (b) •ÊÒ⁄U (c) (4) (b) •ÊÒ⁄U (d)

50. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ •Ê⁄U 2 ¬Ë (‚¥⁄UˇÊáÊ ∑§Ê ŒÊÁÿàfl) ∑§ “ÃËŸ SÃ¥÷Ê¥” ∑§Ê ÷Êª Ÿ„Ë¥ „Ò?

(1) ÿÁŒ ⁄UÊíÿ •¬ŸË ¡Ÿ‚¥ÅÿÊ ∑§Ê ‚¥⁄UˇÊáÊ ¬˝ŒÊŸ ∑§⁄UŸ ◊¥ Áfl»§‹ ⁄U„ÃÊ „Ò, ÃÊ •ãÃ⁄U⁄UÊC˛Ëÿ ‚◊ÈŒÊÿ ‚¥ÿÈÄàÊ ⁄UÊC˛ ‚¥ÉÊ
∑§ øÊ≈¸U⁄U ∑§ •ŸÈ‚Ê⁄U ‚Ê◊ÍÁ„∑§ ∑§Êÿ¸flÊß¸ ∑§⁄UªÊ–

(2) ÿ„ ⁄UÊíÿ ∑§Ê ŒÊÁÿàfl „Ò Á∑§ fl„ •¬ŸË ¡Ÿ‚¥ÅÿÊ ∑§Ê øÊ⁄U ‚Ê◊ÍÁ„∑§ •àÿÊøÊ⁄U •¬⁄UÊœÊ¥ ‚ ‚¥⁄UˇÊáÊ ¬˝ŒÊŸ ∑§⁄U–

(3) ÿ„ •ãÃ⁄U⁄UÊC˛Ëÿ ‚◊ÈŒÊÿ ∑§Ê ∑§Ã¸√ÿ „Ò Á∑§ fl„ ◊ÊŸflÃÊ ∑§ ÁflL§h •¬⁄UÊœÊ¥ ‚ ¡ŸÃÊ ∑§Ê ‚¥⁄UˇÊáÊ ¬˝ŒÊŸ ∑§⁄U–

(4) ¬˝àÿ∑§ ⁄UÊíÿ ∑§ ŒÊÁÿàfl ∑§ ÁŸfl¸„Ÿ ◊¥ ©‚∑§Ë ‚„ÊÿÃÊ „ÃÈ •ãÃ⁄UÊ¸C˛Ëÿ ‚◊ÈŒÊÿ ∑§Ê ŒÊÁÿàfl–

- o O o -
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